[ Efficiency vs vertpos |
- 0.2

018 oo oo s
@ E : : :
O e R P P
[5) I : : :
PSR O | = EETTTPE FREPPPEPPRES EEEE REREEE R PP PPEEE
o o : : :
R o R (R O R Sy
0.0 e R T8 LR SRR
0.08F -+ TN EEPRERPRS oo g
0.06f -} Fiefermmmnnnns . R L P ESPRRPR
R T e e .
0.02F -+ efeeeenes G R R 1 R
P SN U I 1 T (| I IS
o +WF : - 3
T r :
4 r :
1_— - - - -0:-0-0- R

o
©
a

107 1

=
2
N

10 0?
TP vertr (cr%)

—=— DQM_V0001_R000000001__Global__mkFitQCDil__RECO
Efficiend —— pom_v0001_R000000001__Global__mkFitQCDmod__RECO

~ 0.5
T S R P R

A
L S e S SR
> F : : : : :
2 E : : : : :
Ths A S S
[3} o : : : : :
£ 0.3F bt e
] o : : : : :
O SRR SR Sl KU S
R RIS RO SO
T R SRS SN o8 NS S
i ST S O e
R v 1M o S
o “Q:|||||
g
o [
1_— ------------------- B
0.05L : : . . :
=30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
a 0.09
IS
7 0.08
£0.07
2y
c0.06
@
o
£0.05
5}
0.04
0.03
0.02

Y SN N N S R

J..hru‘ .

Ratio
o
!
i
T
I
1
|
i
|

PO -8 6 4 -2 0 2 4
Sim. PV z (cm)



	Contents
	Page 1


